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1T - I/PART - I
9 faerg ug fememes/ CHILD DEVELOPMENT AND PEDAGOGY

3% : F=iiea 7edl % gy 37 2 i ge ofr Ay g

Direction : Answer the following questions by selecting the most appropriate option.

1. FrimEen & s & @=dn 39 3 R
ATF &
(1) fpRem
(2) T feepTeeT
(3) ST HEM

(4) THNHE FGER FHLAT

2. TF 9T & QHONET 87 HEANEH N
FeE T Frefafed § & @ offy
Y TET 7
(1) oeger fRrerer
(2) TR
(3) ST ST
(4) SAf-HREor

8. TF fha & dai & fowy # Fr=ifofeq
¥ ¥ 70T FUF B g 7

(1) Ha7 sifafe sfrm arr oRafda
2t 21

(2) T T e

(3) A% HT A TH HE JE ek B

(4) €I 9@ FETE ¥ TS B 2

4, TEfET fIen § a2

(1) afFr R=ael &t amrg Har-He
§ 9 FHE|

(2) aAfFrE Praret & Bt -t
¥ QU HT

(3) Ak frarell #1 [y FeamE
§ QU FE

(4) AR Faell # R W aReE
S QU FHE | ‘

Level-3/174

i

To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an

adolescent ?

(1) Emotional expressions are
modified by learning.

(2) Emotions are permanent.

3)

Every emotion is accompanied by
~afeeling.

(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

Meeting individual differences in
different classroom.

(2)
(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

P. 1.0
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fheeen § #EeR g e WoaEd
T 999 qgdr 8

(1) farers @1

(2) AR

(3) w-wifEt

(4) FAre=T &

BEl # Afcd gt B g w9 § e
fFam o T ®, 3l o

(1) SR-ER g4 & a1 &

(2) ©@E I W ST FH |

(3) Wer AfFEl & FeriEr g |

(4) 3E-3garett @ &g H|

feees fomam af § 4 drgand oiv
FII fapad 1 § qermsd €, o §
(1) 9 SHE & FA |

(2) St are, g, goEd @R
Frepe feveprer |

(3) FB IO A I Fyfor

(4) wiatEq i [ArEr #1 B s
vt ol st EW fReiX @

e - P Hary fafy
(1) Tha=E (2) STIEEE
(3) W= (4) FrEmers

fr=fofad & @ F9-a1 Feaeer §
qIfoTe [P &1 uh qE 787 8 ?

(1) 9 79 T & TF A wE
T

(2) fagda i & g ampdor 8
(3) Tt d9dl § 4 HH A

(4) fafdre fEEl § R 2
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral effectively
inculcated among the students when

values can be

teacher

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic (2) Permissive
(3) Democratic (4) Restrictive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active
group

member of their peer

(2) Being an attraction towards
opposite sex '
(3) High
relationship

decrease in  friendly

(4) Extension of special interests
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12,

13.

14.

% Y o 9 By A Fd Far B
N @ A a1 fereen, =@ e @
P &

(1) FAMF FHIBR
(2) FamEE FaEr
(3) TAd FGER

(4) ot faeq @& 2

T STEAl T g ©

(1) g= 9 4
(2) T 3 e fora |

(3) W gE (Hhd) g @

(4) TEHT TOFE B

‘gaq X @9E geiET (CCE)

R B

(1) Fa9 dcTh B TR H GAHT
HTAT |

(2) b & et W H i B |

(3) Fdac B & S B YHHA HA |

(4) %A O H GIH H GeAiHT H |

Frfafgd & & @M@ goes aas

%l R (Fraan) 787§ 7

(1) fI&rRar

(2) Hiferawar

(3) fergra

(4) I

it wfqwer 1 arad &
(1) 9% % Jge | e aren 9Rgad |

(2) e @ e Rt § oiads )
(3) UIGHIE] N UTCARH |

(4) wrEgFE] F T & |
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10.

1l

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
mistakes

without  committing

(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive
Evaluation (CCE) aims to evaluate
(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.
(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the

matter.

subject-

(4) Completion of content.

P. 1.0,
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G 1 e B a A B 2

(1) =2 & 99 & g9
(2) s F A
(3) Fpoiraeen & drm
(4) FTEETE & A

IaH B AT A A g s §
Frfifad & & #9-a g@uE Suge
TET e ?

(1) S Frgarstt & e 2 aee |

(2) JUgHT G IR A Sy HE
S =R |

3) 3% ffeaa (q=e) &7 3 =iz
(4) SAfRIRED Fad e T

Rt & @1y, Ry w7 § ermmEife
ot & @y a1 @ Tng o g
T e ?

(1) HAEIEATHE I

(2) ST IUFT

(3) @ufed IUrM

(4) Tt IuEy

TR D TEET ufw @
FEESRETGIi

(1) 9% & AEETH GHe §

(2) 9% & qmoTs g o
(3) 9I9F & ITORE forg &
(4) 9EH & \iepd awwE §
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15.

16.

17.

18.

Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.

(4) Making Individualisation necessary.

Working with adolescents,
particularly maladjusted one, which is
not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach

(4) Ideal approach

Heredity plays most important role in
the

(1)

Emotional development of the
child

(2
(3) Physical development of the child

4

Social development of the child

Cultural development of the child
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20.

21.

22,

F ATHRI TETF €, Fih

(1) 30 S U @ § e
forerett 21

(2) WeEEE] B J9d T F HErE
et &1

(3) TR H W Tl A aHEH A
FErFa fewt 2 |

(4) T 99 B g=d el 2

TR gHR & qheen @ el §
q a9 RBdwa 7272 7

(1) fagoesmEar  (2) axgiea
(3) e (4) R

Ftfard Far-ea & Fefatag § 4
F9-G7 fadwan g ?

(1) 8 a0 W&F @ A §9E,
frepd Freeer oliR ot fremal &t

geen
(2) S RS, qEE o T ¥

(3) HANEH AMUHRF FH BET B
TR & 2|
(4) B ‘HE’ I B qAA B |

Fefafeg & & F9-a1 ™ & @

qMeEd EN Sfauied st @ et
fam g 7

(1) a5 #1 e
(2) F=E H FEH
(8) HATHIET 1 Faw
(4) wAgR % Frg
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A

The knowledge of principles of
learning is must for a good teacher,

because

(1) It helps in maintaining discipline.

(2) Tt make

interesting.

helps to content

- (3) It helps to understand the content

by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

the
constructivist

Which of the following is
characteristics of
classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for
answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.'T. 0,
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27.

T & ogeR aes @ft e &
gl WoafdE fEr @ e d
q & S 8, 98 e et &
q FH-8 oty § @ £ 7

(1) =i s safy

©2) T PR sty

(3) TE-Frare emafyy

(4) =g Ty omafy

U AT F GOl H @ olad

HFENE IqA Isg T oawT GES
[T 1 WX FH9R 8, 98 I8 §

(1) <X Il =X

(2) < S e

(3) Jafrd e

(4) W99 AT JafRTE ST

T8 SN HHS a9 o Rl e
F ACA FW, FRAE FE g g9
@ 999 Bl 8, Feerdl &

(1) st (2) orfEren

(3) g (4) SRR

%S A AT @l § g gerifg
8l 9d § i I I

(1) gf& dfer (1.Q.) &l 2

2) M @l (A.Q.) Bl B

(3) Wil @ (B.Q.) &rdt &1

(4) eI T (S.Q.) Bl B

foepra wTa: R @ 99 @1 X% omER
B ®, o @ 98 Rera Feanr @

(1) fawsd | wHaedia

(2) AfFERER (F=T & et # dR)
(3) amMg ¥ fafare

(4) RRME"
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According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(8) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs and
behaviour is called as

(1) Interest

(3) Attitude

maintains

(2) Opinion

(4) Motivation
Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.)..

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

principle of

(3) General to specific
(4) Cephalo Caudal
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30.

U B a2 qher 3 fow #eT oftm
F W B I M A @ oW ofw
AM I Arecaeied 39 # aer R 2
T A9 2

(1) =i Som

(2) @& e

(3) T STom

(4) =R q9r @ uen

el Ffsd STTH & g F
frfofad & & St #99 Tod & 98 ©

(1) g8 frEal @ Argared, eEarst
AR atfpm et @1 s @ B

(2) g8 I, IEAHT AR @A B
q%r—crwaa%m%y

(3) 98 HAUF BN FHHAT H 5
T 9X 97 3l 2 |

(4) T& STIHASTE-STATH, -G,
TR qq geEdia-aed
St Rt @1 wEeT @ R

‘G B OB qEr T s @
gl a@ T= & @EER ® ;A
Fed & ¢

(1) STEHTHET

(2) G

(3) STEIHIT

(4) 9T

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

It stresses the

enquiry,

investigation.

3) It transmitting
knowledge to the learner by the
teacher.

2

importance of

observation and

emphasises

(4

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence

(3) Denial

(4) Retrogression

Level-3/174
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31.

32.

33.
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35.

o7gfe fasheq 1 e
(1) faeat= = fgg + g

(2) JOAER = J8d + 4%
@) T = 99 + &
(4) AT = A + Ty

GO g ¥ P TwT @ 2 ?
1 37 (2) @

3 = (4) 97

‘Ie o9 W ewen fe T oA - 3 R
% I o

(1) 3THE

(2) SmHE

(3) ST

(4) TR

o AR o Y Bem @ s —
% foe & a=t ?

(1) gfea

() srERE

(3) Dt

(4) T

= o=l § 8 - 9= ‘@R 7
(1) ™

(2) g

(3) T

(4) U
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‘i ond d H ot grert | g
36 9 ¥ @8l I @

(1) E~ SIF

(2) BFRYAY o

(3) HfE™ g

(4) ALt b
‘ﬁﬂmm@ﬁaﬁﬁw%wﬁ%}g@n
& - % fow gs a= ®

(1) FHg

(2) FHEH

(3) g gF

(4) FATEGA

fom o= & @ @ gfe @ Rvfe
w7, aﬁgﬁwﬁﬁﬂﬁtﬁwrﬁw
™ e ?

(1) §aa

(2) FHa=A
(3) @
(4) @Ol

o8 = § A o O gm0
q 7@ g B 7

(1) Feret

(2) Qi

(3) duE

(4) HrEE
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(1) T 4

2) G g

(3) TE 9

(4) wfey o
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(1) 3y

(2) SEarES GsT

(3) fasryer

(4) F&cTT

P I Y H GEEE 78 R ?
(1) #E

(2) fafmEmET

(3) T

(4) faferg
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1) T6+7 |

@ T+ o

(3) 6 + I

@ W+a

Grfisq’ sr= F T Gy vy A
(1) It + 39a¢

(2) AT + de=X

(3) AT + &

(4) W + g
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(4) qedmgE
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(2) U fady
(3) WI & ¥ gRad=
(@) Tf few T @

(13)

57.

58.

59.

60.

Ay & ferret &

() BIH TEEE &

(i) WERM ¥9EE &

(iii) a0 T &

(iv) gfte wgs afiiwer &
S I [T 1 gig
(1) @ W@ (v)

(2) (i) T (iv)

(3) aa (iii)

(4) A (i)

AR i IS Jomell @i oTge faar
(1) o 3 (2) gAtEr 3
(3 FW A (4 d= T

fyedyor § srared &
(1) 2eE

2) forarg

(3) e

(4) HfeHr Hs7

WA= 9Rd 7 difed e &
(1) SgfHar

(2) YU & HaMET

(3) orclid & Feal ¥ @l HET
(4) HET AR Frgd

Level-3/174
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T - 1I1/PART - 111

ST - 11 ($F5)/LANGUAGE - IT (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

[ suddenly realized I (watch).
(1)
(2)
(3)
(4)

am being watched
have been watched
am watched

was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(2) some
(3) ose
4) ful

Level-3/174

64.

65.

66.

‘I don't enjoy going to the dentist.
The

sentence is a/an

word 'going' in the above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the
park.

(3) Mother said us not to go to the
park.

(4)

Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case
(2) fall off your perch

(3) be off your trolley

| (4) on cloud nine



(15) A

67. Choose the correct passive Direction : (Q. Nos. 70 to 74) : Select the

construction of the sentence : sentence that is grammatically correct :

Auctioneers will sell the painting at

auction. 70. (1). My brother is the student in
(1) The painting would be sold at Mayo College.
auction.

(2) My brother is student of Mayo

(2) The painting will be sold by the College.

auctioneers at auction.

, ) (3) My brother is a student in the
(3) The painting will be sold at

Mayo College.

auction.
(4) The painting will be selling at (4) My brother is a student in Mayo
auction, College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : there.

I must be cruel, only to be kind.
’ d (2) Neither of them was present

(1) Epigram there.
(2) Paradox .
(3) Neither of them present there.
(3) Analogy

- " (4) Neither of them are present
4 etaphor
“) 3 there.

69. Which of the following words is mis-
spelt ? 72. (1) The roses smell sweet.

(1) incongruous (2)

(2) chronological

The roses smell sweetly.

(3) The roses are smelling sweetly.
(3) synchronus

(4) sympathetic (4) The roses are sweetly smelling.

Level-3/174 P.T O.



73.

74.

75.

(1) You certainly did not ought to do

it.
(2) You certainly ought not to have
done it.
(3) You certainly did not ought to
have done it.
(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?

3)

The book was given to who ?

4

Whom was the book given to ?

Choose

transcription of the word 'Locate’

the  correct  phonetic

(1) /NMuket/

(2) /okeit/

(3) /lou'keit/

(4) Nouket/

Level-3/174
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76. Choose the correct direct speech of

77.

78.

the given reported speech :
He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it
was late."

(3) He said, "You'd better be gone
because it was late."

(4) He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do

we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/174

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The wvulgar laugh. at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seveﬁ'. It is a kind of
mental instinet, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
of mind which

necessary to its receiving and giving their

unbiased freedom is

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because
¢y
(2)
3)

Its price is above rubies
All learned men have it
All men are without it

(4) Very few have it

P.T.O.



82.

83.

84,

85.

What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) 'bigotry and narrow minded
notions

(3) truth and propriety

(4)

an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.
(2) Common sense requires the

utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers

feel objects of touch.

the
native simplicity and warps and
trammels the freedom of mind.

(4) Common sense destroys

Fill in the blank with the most
appropriate word :
Common sense has been well

pronounced to be ‘fairly worth the

(1) Notions
(3) Talents

(2) Sciences
(4) Wits

Which is not a synonym of the word
'pedant’' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

87.

88.

89.

90.

...........

child should learn to read and

write
(1) Al (2) Every
(3) Whole (4) Both

Can I ask your ........... , do you think

TV violence is harmful ?
(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

(3) on (4) by

Take some medicine and the pain will

€0 weverrennnn, .
(1) back (2) off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/174
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1T - IV/PART - IV
s/ PSYCHOLOGY

fAder : Fricige g7l & Fav 37 % fiw @98 af e g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94,

gfs &1 f&-sren R B 2

(1) &Fag-meAT
(2) = aiEe
(3) AT A

(4) I%=T F

Sieq qEEer yom e § @ e
g B ? .
(1) R & Z@erar &1

(2) TRl @ STTaRE fawr @

(3) B & ofanry fages @
(4) dfew 3 afead & a3 e @

o1 foeedl & @ #-@ e & g
A3 & ar § T 78T aaarr ?

(1) Faa
(2) 999 g8+

(3) HEgd HTA
(4) drEeT

= 4 A FF-ar 99 wEE A 78
far g ?

(1) 4

(2) fafeer

(3) HUfed ofa=an

(@) A=

Level-3/174

91.

92.

93.

94.

Two factor theory of intelligence is
given by

(1) Howard Gardner
(2) Charles Spearman
(3) Wechsler
(4) Thurston

The concept of 'Life Space' is a
component of

(1) Skinner's behaviorism

(2) Maslow's theory of  self
actualization

(3) Hull's theory of drive reduction

(4) Lewin's field theory of personality

Which of the following is not
suggested as the ways of knowing the
world according to Carl Jung ?

(1) sensing

" (2) asking questions

(3) feeling
(4) thinking

Which of the following concepts is not
given by Freud ?

1)
(2)
(3)
(4)

eros
libido
collective unconscious

thantos

P.T.O.



95.

96.

97.

98.

99.

st & omar  olvafe  aReEws
T

(1) 9&el =X

2) T T

(3) | =

(4) T =

o Tho RFAT UH T HHT 19 8

(1) e Sde & e
(2) FEER F IFR 31 B g

(3) o eI % fe

(4) oHfaiE & fo

‘GEr ® el § Fe o4 4 de-a
feeeq @e? 787 & 7

(1) T8 T olfed o= &

(2) 9H Y B & g

(3) & TH YW U= ¢

(4) 3EF o ¢ S A5 RaE A A

Yeel T9E g qlEr o
(1) St 3TeH
(2) st e
(3) oMl SIS gL

(4) offeq gevean

I Rass § 9 W @& A
Qg a9 H HEar @ 4 2 ar Iud
e afa geyaa: entt

(1) A9 Hikqss § (2) Hoon d
(3) T ® (4) 99 ¥
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95.

96.

97.

98.

- 99,

According to Piaget's cognitive theory,

Formal operational stage is
(1) I stage of development
(2) II stage of development
(3) III stage of development
(4) IV stage of development

B. F. Skinner is a well-known name

for
(1)
(2)
(3)
(4)

classical conditioning
shaping behavior
latent learning

self actualization

Which of the following is not correct
about PERSONA ?

(1) Itis a Latin word
(2) It means mask
(3) Itis an incomplete word

(4) It means as one appears and not
one actually is

The first group intelligence test was
(1) Army Alpha

(2) Army Beta

(3) Draw a man test

(4) Otis mazes

If a brain injured patient loses the
ability to breath, his neural damage
is most likely to be in

(1) mid brain (2) medulla

(3) cerebellum (4) pons



100.

101.

102.

103.

104.

105.

N g = R R §

(1) P =
(2) AT S9ET |
(3) 2Ee M A
(4) 9 |

fFdl fosra @ dsd arl @ @
FHET FEdA &

(1) T8I IUFTH
(2) FEu=YE 39

(3) TUTHH IUH
(4) =¥ T IIFH

e 2 By W emes gt §
AT =T

(1) fagarE g9M HAfggam|
(2) GHIYAT T ST
(3) Hedl a9 &

(4) 9B TAM STEErY

frer & 3 P91 e 'R
TAsE 78T & 7

(1) gz (2) FrEaT
(3) TR (4) TEEH

ARG Tae & ufEr B
(1) freged /R 4
(2) Ty dy @
(3) 9Eigs A &
(4) G Ay @i

TRASs H HE-TT AN W B G A
el & 7

(1) BREX 2 & ™ 8=

(2) af-Fq &=

(3) T &=

(4) (@@ 8
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100.

101.

102.

103.

104.

105.

A

The theory of multiple intelligence
has been given by

(1) Guilford

(2) Arthur Jenson
(3) Howard Gardner
(4) Allport

Classifying people in groups on some
principles is called

(1) projective approach

(2) nomothetic approach
(3) trait approach

(4) idiopathic approach

The third stage of Erikson's stages of

-development is

(1) trust vs mistrust
(2)
(3

4

intimacy vs isolation

industry vs inferiority

initiative vs guilt

Which of the foIIov;ring is not a
Gestalt Psychologist ?

(1) Wundt (2) Kohler

(3) Koffka (4) Werthiemer

Body metabolism is a key function of
(1)
(2)
3)
4

pituitary gland
adrenal gland
thyroid gland
pineal gland

Which part of the brain is associated

-with the language comprehension ?

(1) Forester's area
(2) Wernicke's area
(3) Gage's area

(4) Rescorla's area

P.T.O.



A

106.

107.

108.

109.

UEL S B U 2 B 2 B G E ) 7
R &

(1) Frar @

(2) "S" FR FH Ik

3) 95 H 4t e 7 o & &f @
e

(4) T 9 REe 9 9= § 4i-di
frrage

TF 20 99 FH qH A H JoF g
T avE Ul & | I8 F9er 290 2

(1) TTEH

(2) "

(3) wiaikar T2
(4) <\

M & 999 PH-91 e uRe E
Afereprell #1 e B @ ?

(1) R o
(2) T
@) td @
(4) Tt

Idld # ogeHet # (W ¥ e @)
i %7 Feadmr &

(1) &fre e
(2) e fararor
(3) eErmd fae

(4) g e
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106.

107.

108.

109.

Ebbinghaus's curve

shows

of forgetting

(1) a declining curve

(2) a"S"shaped curve

(3) a gradual drop followed by a
steep decline

(4) a steep initial drop in retention

followed by a gradual decline

A twenty years old girl sits in a
corner and weeps like a child. This
behavior displays

(1)
(2)
(3)
(4)

hypochondriasis
regression
reaction formation

repression

The hormone that constricts the

peripheral blood vessels during

emotion is

(1) nor epinephrine

(2) epinephrine

(3) ADHD

(4) Serotonin

Impairment of memory for past
events (prior to sustaining injury) is

known as
(1)
(2)
3
(4)

transient amnesia
organic amnesia
anterograde amnesia

retrograde amnesia



110. & ©q w9 IV 8 2

111.

112.

113.

(1) faebr g wmifm fgem v

(2) T 9 GH 9HAS F9EE IV &
fordr

@) W g FiferE  igem IV
At Rl & ford

(4) Y@ 7 sefae Ager IV

fora & fed =1 W ad S (SFger
FHTAT) FEA &

(1) &

(2) uferme

(3) wfafskar s

(4) gFRRHT
ST ERM TF SAAE WA S
@A H T FT 2, 38 FEd §

(1) fe @

(2) A =

(3) emrefad

(4) f=

Flew aW uued ARE w3
= e e @

(1) %gs g/ &3 1 gaie = 4

(2) tRFEs & & T §EEmEhE
TN |

(3) dieEam & & T siqdats
3

@ fEm zZm § ™ daneE e
T
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110.

111.

112.

113.

DSM IV refers to

(1) developmental and social manual
v

(2) drug and shock for mental
depression type IV

(3) diagnostic and statistical manual
for mental disorders IV

(4) diagrammatic and schematic
manual IV

Going back to an earlier stage of

development is known as
(1)
(2
(3
(4)

repression
regression
reaction formation

rationalization

Human body always tries to maintain

an internal balance that is known as
(1) keep fit

(2) internal mechanism

(3) homeostasis

(4) peace

Kohlberg's moral development stages
are closely related to

(1) Freud's psychosexual stages

(2) Erikson's psychosocial stages

(3) Sullivan's interpersonal stages

(4) Piaget's
stages

cognitive development

P.T. 0.
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114. TG TFM § F9 9 & 999 W 114. Who stressed that birth order
A e Rar g ? influences the development of
personality ?
(1) tRE wH (1) Erich Fromm
(2) ThHS TS (2) Alfred Adler
(3) B et (3) Karen Horney
(4) Tdo THo HalEM (4) H.S. Sullivan
115, Suafer SREROT 9= & g€y & 115. The term achievement motivation is
_ associated with
1) AFiE & (2 AW A (1) Mc Clelland (2) Mc Dougall
(3) 9T | (4) 9T | (3) Mowerer  (4) Maslow
116. | & #9-w RBEw gw @ 116. Which of the following is not
yfsararl fsial | NEl T E 7 associated with the process oriented
theories of intelligence ?
(1) 99 fEm () e (1) Jean Piaget (2) Sternberg
() g (4) SFTEEA (3) Bruner (4) Donaldson
117. Gﬂfﬁfﬂ R o T ITETS © 117. Sympathetic nervous system is a
subdivision of
(1) @ dfEer = & (1) autonomic nervous system
2) HF e dF H ) (2) somatic nervous system
(3) BT ol &5 @ (3) central nervous system
(4) e & o @ { (4) limbic nervous system
118. =1 # & FF-@ gl gager gl 118. Which of the following test is not a
TR ? projective test ?
(1) T & (1) TAT
(2) @E =1 (2) Ink blot
3) 16 9 T (3) 16 PF
(4) R Fet (4) picture frustration

Level-3/174



119.

120.

121.

122,

123.

9 T W IV 7 flt gt & 2

(1) 9"
(3)

(2) IX
(4) 3

1§ 8 #9-91 gafe o 9o
AR & I W P2 GRRE F e
g7

(1) der =@
(3) f=m =

(2) 99 =
(4) o =1

HameE gfe a2
(1) &F MR

2) e Nass 3

(3) ®fels I

(4) ¥rhs e 3

o BT o Gad AR 3 a b

(1) =T 1 16 G TF e
(2) 5 BT Hisw 3% AT
(3) =T @1 Siq-qE aerd Hew

(4) gf& F 3 T A=A

7’ B B aiiRe Rads 3
TR ¥ & "I H oy A
g7

(1) Sg-aT
(3) T%-3SEA A

(2) F-a18 A
(4) TR A
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119.

12ot

121.

122,

123.

.(3)

A

Along how many axis DSM IV is

organized ?
(1) 5
(3) 3

2 4
(4) 2

Which of the following perceptual
chart contains several rows of letters

of decreasing size ?
(1) Landolt chart (2) Illusion chart

(3) Riccochart (4) Snellen chart

Emotional intelligence is proposed by
(1) Howard Gardner

(2) Daniel Goleman

(_3) Holland

(4) Alfred Binet

Paul Costa and Robert Mac Crae has
given

(1) 16 PF test of personality

(2

five factor model of personality

introversion extraversion model
of personality

three dimensional model of

(4)
intelligence

Who proposed that felt emotions are

t}_le perception of bodily changes ?

(1) James-Lange (2) Cannon-Bard
(3) Yerk-Dudson (4) Schater-Singer

P.T.O.
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124. SEAIST AT (quﬂ'{ﬂl) Fl qﬁw 124. Observational learning (imitation) is
fopar & . given by
(1) o do afgad I (1) J.B. Watson
(2) aﬁ_ﬂ aqr Eﬂﬂ?é i (2) Bandura and Walters
(3) Sfeme P (3) Dollard and Millar
(4) F g 3 : (4) Carl Jung
125. =g 125. Chunking
(1) THIfTH FIFG[ F ToT 2 (1) expands the capacity of STM
(2) STEHIAH Fjﬁ"[ F "l & (2) limits the capacity of STM
(3) o WY § o@y Hr & (3) interferes with STM
(4) THIAD Fﬂﬁf Hogag el (4) does not influence the STM
A &
126. 7= § § -1 R IHeEF: @ 126. Which of the following is not a
Ay % I et & 787 8 7 primary law of learning given by
. Thorndike ?
(1) oo # fEm (1) law of readiness
2) w9G 1 fraw (2) law of effect
(3) YT # g (3) law of proximity
(4) 99 F FEH (4) law of exercise
127. " g Ry W WW GeTgH 127.- Which of the following gives the
[SEAR R ﬁ??Gﬂ?Fq 2 correct sequence of Maslow's
(1 hierarchy of needs ?
(1) w»%ﬁm—w—wm—amﬁ{ﬁ‘g (1) safety-biological-attachment-
esteem-self-actualization
(2) W—W-W-W—Hlﬂmﬁﬁ (2) biological-safety-esteem-
attachment-self-actualization
@) W_W_W_W_mﬁqﬁ; (3) biological-safety-attachment-
: esteem-self-actualization
) _W'W-W_W_m (4) biological-attachment-esteem-
safety-self-actualization

Level-3/174



128,

129.

130.

131.

132,

133.

feufsbe & orgar fFe R @1 afwE
fersferer 7 wasrita & & 2

(1) Semar (2) i
3) g (4) Py

o dio To do & a7ef &
(1) ghs, =@, goar qleo

(2) AFTT T &Har T F Gee

(3) ¥8 UF YEYYT &Ml H gy B
(4) TGS &Har ThET

H F Iflew g @ R § gfx @
1

(1) =% e am
2 e Sar

(3) i @r gted
(4) oS TS
froorTaRar it §
(1) HEE &R

(2 M =R

(3) 7 gafud faer
(4) FE THR [T

Fee & gfe & ueq § g & @
PI9-91 Giafer 787 ar ?

(1) wfFar 2 e

3) favgag (4) IWE

fed srgwdl & @9 A1 9 o8 g
T H P 49T F Feq 2

(1) gf&
(3) HfF™

(2) Stf¥ermar
(4) 3fepmy
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128,

129,

130.

131.

132.

133.

A

Which type of personality according
to Hippocrate 1is irritable and
excitable ?

(2) choleric
(4) melancholic

(1) sanguine
(3) phlegmatic

What does IPAT stand for ?

(1) intelligence, personality, ability

testing
and

2

institute of personality

ability testing
(3) it is a projective ability test

€))

interpersonal aptitude testing

In Vernon's hierarchical theory

intelligence is portrayed as
(1) circular theory

(2) pyramid

(3) straight line model

(4) , cluster of abilities

Dysthymic disorders are
(1)
(2)
(3)
(4)

mood disorders

sexual disorders

substance related disorders
somatoform disorders

Which of the following is not included

in Guilford's model of intellect ?
(1) operations (2) principles

(3) contents (4) products

An ability to profit from past
experiences or to good
associations is called

(2) aptitude
(4) learning

form

(1) intelligence
(3) personality

P.T.0.
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134.

135.

136.

137.

138.

g g gt
¥

(1) Tt R

(2) Ut Ee R

(3 7 Rt

(4) wEfe Rl

frr & @ F9-@ Ry om% S0 &
gﬁ;ﬁﬂmmﬂ%ﬁwwm
(1) e fafy

(2) T e fafy

(3) ST AT Srea fafy

(4) i STeqae fafy

= & & Fi-ar feed sffade & &
T o e § 78 & TR 7

(1) T o

(2) ST ToTg

(3) T IR

(4) FEE TG
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The covering sheath of a neuron is

known as

(1) sylvian sheath
(2) pacinian sheath
(3) fibre sheath

(4) myelin sheath

Which of the method studies children
of various ages simultaneously ?

(1) clinical studies
(2) longitudinal studies
(3) cross sectional studies

(4) naturalistic studies

Which of the following is not included
in the Trait theory given by Allport ?

(1) secondary traits
(2) cardinal traits
(3) primary traits

(4) central traits

Internal-External control scale was
developed by

(1) B.F. Skinner
(2) dJulian Rotter
(3) John Watson
(4) T.Jankins

The structures that border around
the brain or form a ring is known as

(1) Somatic system
(2) Limbic system
(3) Peripheral system
(4) Amygdala
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Who has analysed the term 'Set' in
eight different meanings ?

(1) Jacobson (2) Vyogotsky
(3) Gibson (4) Kulpe

Who introduced the
Scientific Management ?

(1) Mayo (2) Taylor
(3) Hawthorne (4) Feyoll

concept of

Which of the following stage is not
included in Selye's GAS model of
stress ?

(2) denial
(4) exhaustion

(1) resistance
(3) alarm

To enhance creativity which of the
following is suitable ?

(1) habitual blocks

(2) brainstorming techniques
(3) observational learning
(4) intelligence tests

A soldier in combat situation
suddenly develops paralysis of his
arm without any injury. It could be a
case of

(1) schizophrenia

(2) somatoform disorder
(3) mood disorder

(4) anxiety disorder

Which of the following is not included
in  Thorndike's
intellectual functioning ?
(D
(2
(3)
(4)

classification  of

abstract intelligence
social intelligence
general intelligence

concrete intelligence

) o784 0 1
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Forgetting that occurs solely with the
passage of time is known as

(2) inhibition
(4) interference

(1) amnesia
(3) decay

The saliva in classical conditioning
is a
(1)
(2)
3)
(4)

conditioned stimulus
unconditioned stimulus
conditioned response
unconditioned response

Eneuresis is
(1)
(2
(3)

most common among adults

has poor prognosis

can result from faulty parental
discipline

(4) more common among women
than men

The book "Interpretation of Dreams"
was written by

(1) Carl Jung

(2) J.B. Watson

(3) Sigmund Freud

(4) Allport

Down syndrome is a
(1)
(2)
3)
4)

viral disease

mood disorder
abnormal disease
mental retardation

Those children who eat breakfast
regularly perform better in
examination. In this hypothesis the
independent variable is

(1) dIesh (1) children
2) TdEn ¥ feqes (2) performance in examination
(3) frafaa snear @ (3) eating breakfast regularly
(4) 3@ (4) intelligence
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Answers to questions inanswer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ®

The answer will be treated wrong, if it is marked, as
given below :

© ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
pripted or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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